
Bellucci, Daniele

13-Dec-2021

Released

IND. N�$� DIS. DENOMINATION Q.

 1  K49_001  KNOB D35  1

 2  K49_002  KNOB FRAME  1

 3  K49_700  PUSH PULL ASSEMBLY  1

 4  FIB_017  CASSETTE FILTER 222x235  2

 5  CME_026  1

 6  L01_002  TRANSFORMER SUPPORT PP-V2  1

 7  200_009  DIRECTIONATED GRATE D150 ABS HB LG  1

 8  CMM_039  PIPE D152.4 H328  1

 9  335052_005  LED SUPPORT  1

 10  CME_732  STRIP LED PPT 161020 L300  1

 11  335052_001  CASING  1

 12  335052_002  BACK  1

 13  335052_003  GRID SUPPORT  1

 14  335052_004  FILTERS SUPPORT  1

 15  335052_710  GENERAL ASSEMBLY  1

 16  335052_711  MAIN BODY  1

 17  335052_713  EXPLODED DRAWING  1

 18  A18_362  UNALIGNED FLANGE  1

 19  A92_038  MISALLIGNED FLANGE SUPPORT  1

 20  CME_040  EMC FILTER  1

 21  CME_COND_27  CME_COND_11  1

 22  CME_CONNETTORE_F9_  1

 23  CME_CONNETTORE_M9  1

 24  CME_CONNETTORE_STS  CME_CONNETTORE_STS  1

 25  CMM_701  ADJUSTABLE WALL MOUNT HOOK D12  2

 26  CMM_701_1  SMALL BLOCK  2

 27  CMM_701_2  SCREW M5X48  2

 28  CMM_701_3  ANCHOR Ø12X42.8  2

 29  CMM_BOCCOLA_M4  CYLINDRICAL THREADED INSERT M4 UNI 9201  1

 30  CMM_DADO_M4_SERPRESS  CMM_DADO_M4_SERPRESS  4

 31  D05_023  9 PIN LOCK CABLE  2

 32  D05_023_ASM  9 PIN LOCK CABLE  1

 33  D09_006  MOTOR SHOCK ABSORBER 8/40 90  4

 34  D12_009  FIXING IMPELLER NUT D8 E15  1

 35  D23_001  BLOWER RH PP V2  1

 36  D23_002  BLOWER LF  1

 37  D23_003  CABLE FIXING PP V2  1

 38  D23_004  IMPELLER  1

 39  D23_005  PLIER IMPELLER D8  1

 40  D23_701  IMPELLER  1

 41  L01_701  ASSEMBLED SPOT LIGHT TRASFORMER  1

 42  RVT_003  RIVET CYLINDER HEAD MULTIGRIP 3.2 X 7.9  33

 43  SCR_001  SCREW 2.9 X 12.7 CYLINDER HEAD PZ2  5

 44  SCR_007  SCREW M4 X 9 CYLINDER HEAD 14 PZ2 SELF TAPPING  2

 45  SCR_008  SCREW M4 X 9 CYLINDER HEAD 9.5 PZ2 SELF TAPPING  2

 46  SCR_015  SCREW 2.9 X 7.5 COUNTERSUNK PZ1 D 4.1  2

 47  VITE_2-9X12-7_TC_CR  1

 300  D23_700_G  MAIN ASSEBLY GENERIC  1

Created by Solutions

Denomination

EXPLODED DRAWING

Rif.  

Modif.by  

Approved by 

Approval date 

Doc. status 

Drawing N.

335052_713
Rev

02

*

 7 

 9 

 5 

 10 

 300 

 4 

 1  2 

 3 

 6 

11


	Sheet 1
	Views
	new_view_1



